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1. I e Aftpret T we y3T a93:
(i) 13
I8 :

(132 =13 x 13 x 13 = 2197 €39

(i) —4

(iv) 2.4
IS :

(24)3=24x24x24=13824839

2. WE T WfE3s U3T a9 Ada fAASt 37" 15cm J=1

IG5 :
WE S g = 15cm

WE T WSS = (A7)3 = (15cm)? = 15 cm x 15 cm x 15 cm = 3375 cm3 €39

3. 35 ot Hftmrret T He U3 a3:

(i) 53—43

IS :
53 - 43 = 1+5%x4x3=61 €39

(ii) 73—63

IS :
73 - 63 = 147x6x3=127 €39

(iii) 513503

IS :
513 - 503 = 1+51x50x3=7651 €39
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4. €37 & 3 231 Afetnr U3T I3, fA 5% 100 § T= 995 '3 YIS WE Yyu3 J A=l
95

100
50
25
5

1

2]
2]
5]
5]

100 = 2x2x5x5
WITH JrEaHI 2 W3 5 35 @ Aya R9 &dt I3, for 38 100 ffd Yas we &t J1 frm § yas

WE g0 B4 2 x 5 &8 JIe7 dI&" U=dr|

for AfEST fR9 100 x 2x 5 = 2x2x2x5x5%5 = 1000
AT ygs we Ji

. BFer At = 2 x5=10 €39

5. €T 2t 3 331 At u3™ 33, fa7 575 2916 & T= F9& '3 UTS WE YyUI I A<

v

I8 :

2916
1458
729
243
81
27

]| w|o]o|w|w]m

2916 B Y3& we &Jt I o § Ugs we g8t © 86 2 &% =7 SI6" UAT
fer AfE3t fS9 2916 x 2 = 2x2x2x3x3x3x3x3x3 = 5832

AT yss we Ji

S Hfepar = 2 €39
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6. €T 2t 3 B3 AftM U™ 33, fA7 &5 16384 § 3% '3 UTs We U3 I A=l

98 :

16384

8192

4096

2048

1024

512

256

128

64

32

16

8

4

2

1

16384 = 2x2x2 X 2Xx2X2 X 2XDXD X IXDXD X DX
WITH JrEaud 2 35 © AT €8 &di 3

e N ) e L e O L (X[

for €t 16384 S U9 we &t I foA § Uds we Se'85 © 88 2 x 2 = 4 378 I91 AT
y=4r

fen Afast Ko 16384 + 4 = 409

A T ygs we J|

.. SFar Afeprr = 4 Q39

7. wigH Jeaus fedt Idt Iot fodn Afimiret & weys U3 a9
(i) 512

98 :

][] oo
W
N

512 = 2X2X2X2Xx2XDX2XDIXD

Vo12=V2 X2 X2X2X2X2X2X2X2X2
=323 x 23 x 23
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= 2x2x2
=512 =8 €39
(ii) 1331
I8 -
11 | 1331
11 [ 121
1111
S
1331 = 11x11x11
Y1331 =V1I x 11 x 11
=113
=11
=3/1331=11639
(iii) 42875
IS :

| 42875
| 8575
1715
1343
49
7
1
42875 = 5x5x5 x 7xX7x7
V42875 =Y5X5%X5 X 7X7 X7
=V53x 73
= 5%7
= /42875 = 35§39
(iv) 216000
I8 :

RISINICICIC

216000
108000
54000
27000
13500
6750
3375
1125
375
125
25
5
1
216000 = 2x2x2 x 2x2%x2 x 3x3%x3 x 5x5x5

||| o[ ]o o
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V216000=V2X2X2 X 2X2X2 X 3X3%X3 X 5X5x%5
=V23x23x33x 53

= 2x2x3x5

= /216000 = 60 €39
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